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Section A: (6 x_1 mark = 6 marks)

Chosse the correct answer and put a tick in the box i,

i em-it=| 7 ‘

9
The missing number in the boxis | 14
36
21 2 |- 8=z
- = -
14

The missing number in the boxis | 26

30

3. The humber that is-between 23 and 25 is

22

24

26

307



4. Add 7and 28.

The answer is

Mumbers 1o 40
Revision 2 ~ 2014

25

21

35

5. Complete the number paffern.

' The number that comes next is 25

18

28

38

24

26

| is greater than 10 but smaller than 20.
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Sction 8 (4 x 2 marks = 8 marls)
Write the correct answers in the blariks provided.

7. a)Write the né}nﬁar in word.

39

b)Y Write the word in number.,

thirteen

&. Which three numbers make up 387 Circle them.
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9. Arrange the numbers in order from the greatest to the smallest.

 greatest

"10. - Sally has 4 pieces of string A, B, C.dnd D.
String A is longer than String B.
String C is longer than String A but shorter than Siring D.
Which is the shortest string?
(Hint: Draw A Diagram)

String is the shortest.
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Section €: (2 x 3 marks = 6 marks)
Read each guestion carefully. Write your answers clearly in the given -
blanks. Marks will be given for the correct equations.

11. | Peter and Ali have 27 marbles.
Peter has 12 marbles,
How many marbles does Ali have? -

Ali has ' marbles.

12. There are 11 red beans and 13 green beans in a box.
How many beans are there altogether?

A0

There are _ beans altogeiher.

_Have you ¢hecked your work?

31
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Level: P1
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Q1) 14

Q2) 30

Q3) 24

Q4) 35

Q5) 25

Q6) 18

Q7a) thirty-nine
Q7b) 13
Q8)20 12 6
Q9) 35 31 28 20
Q10)B

Q11) 27-12=15
Al has 15 marbles.

Q12) 13+11=24

There are 24 beans altogether.
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